Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

500

I
o
o

3001
200¢

100

Ti, 70008 - UT, 20121218

T
5001 3004

-500 0

500
Distance (South to North) [km]

Ti, 70021 - 70109 UT, 20121218

Distance (South to North) [km]
Ti, 70157 — 70245 UT, 20121218

Distance (South to North) [km]
Ti, 70333 - 70421 UT, 20121218

Distance (South to North) [km]
Ti, 70509 - 70557 UT, 20121218

Distance (South to North) [km]

Ti, 70008 — 70021 UT, 20121218
500 T ! [ ! !

400}
300
200}

100 :
-500 0

Distance (South to North) [km]
Ti, 70109 - 70157 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 70245 - 70333 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 70421 - 70509 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 70557 — 70645 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Altitude [km]

Ti, 70645 - 70733 UT, 20121218

N
o
o

300
200

Altitude [km]

Distance (South to North) [km]
Ti, 70821 - 70909 UT, 20121218

100

-500

500

Altitude [km]

3 | R
o LR

Distance (South to North) [km]
Ti, 70957 — 71045 UT, 20121218

N
o
o

300
200

Altitude [km]

Distance (South to North) [km]
Ti, 71133 - 71221 UT, 20121218

100

I
o
o

Altitude [km]

-500 0

Distance (South to North) [km]
Ti, 71309 — 71357 UT, 20121218

Distance (South to North) [km]

Ti, 70733 - 70821 UT, 20121218

E \ o
= \ \
(o))
= o]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 70909 - 70957 UT, 20121218

E \ o
= \ \
()
S b \
2 A .
ﬁ \ \
\ 508 300
500

Distance (South to North) [km]
Ti, 71045 - 71133 UT, 20121218

Altitude [km]

100 _——L
-500 0
Distance (South to North) [km]

Ti, 71221 - 71309 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 71357 — 71445 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Ti, 71445 - 71533 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 71621 - 71709 UT, 20121218

Altitude [km]

200

Altitude [km]

[ERN
O
1o
o
o
o

Distance (South to North) [km]
Ti, 71757 — 71845 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 71933 - 72021 UT, 20121218

Altitude [km]

E (U
= \ \
()
= AN
ﬁ \ \
\ stﬁ\ 3004
500

Distance (South to North) [km]

Ti, 72109 — 72157 UT, 20121218
500 >

€ 100 K | L

2L 300 QA | | |

2 | | |

g 200 [ ]
100 \ \ 508] 300
-500 0 500

Distance (South to North) [km]

Ti, 71533 - 71621 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 71709 - 71757 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 71845 - 71933 UT, 20121218

Altitude [km]

E \ o
= \ \
)
2 A S
g | |
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 72021 - 72109 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 72157 — 72245 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Ti, 72245 - 72333 UT, 20121218

500

I
o
o

300

200

100 —
-500 0

Distance (South to North) [km]

Ti, 72421 - 72509 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 72557 — 72645 UT, 20121218

Altitude [km]

— v ’ T \ \

a0 2%N

S 300 \ \ \

2 \ \ \

g 200 B ]
100 \ \ 5(5\ 3004
-500 0 500

Distance (South to North) [km]
Ti, 72733 - 72821 UT, 20121218

__ 500 R \
€ 2008 \ R
S 300 \ \ \
2 \ | |
£ 200 R R ERERRL AR
< 100 \ L s
~500 0 500
Distance (South to North) [km]
Ti, 72909 — 72957 UT, 20121218
500 pum awrg T \ \
= ‘ L S FU |
=, 400 \ \ \
3 300 \ \ \
2 \ | |
£ 200 R ETRTRE
< 100 \ L s
=500 0 500

Distance (South to North) [km]

Ti, 72333 — 72421 UT, 20121218

Altitude [km]

100 L
-500 0
Distance (South to North) [km]

Ti, 72509 - 72557 UT, 20121218

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 72645 - 72733 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 72821 - 72909 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 72957 — 73045 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



Ti, 73045 - 73133 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 73221 - 73309 UT, 20121218

Altitude [km]

E \ o
= \ \
()
] . \
= A
g \ \
\ S(ﬂ\ 3004
500

Distance (South to North) [km]
Ti, 73357 — 73445 UT, 20121218

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 73533 - 73621 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 73709 — 73757 UT, 20121218

Altitude [km]

Distance (South to North) [km]

Ti, 73133 - 73221 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 73309 - 73357 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 73445 - 73533 UT, 20121218

Altitude [km]

500
400
300
200
100 s
-500 0
Distance (South to North) [km]
Ti, 73621 - 73709 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 73757 — 73845 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 73845 - 73933 UT, 20121218

N
o
o

300
200
100

N
o
o

300
200
100

500

I
o
o

300
200
100

Distance (South to North) [km]
Ti, 74021 - 74109 UT, 20121218

-500 0

Distance (South to North) [km]
Ti, 74157 — 74245 UT, 20121218

Distance (South to North) [km]
Ti, 74333 - 74421 UT, 20121218

-500 0

Distance (South to North) [km]
Ti, 74509 - 74557 UT, 20121218

-500 0

Distance (South to North) [km]

Ti, 73933 - 74021 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 74109 - 74157 UT, 20121218

Altitude [km]

Altitude [km]

100 S

-500 0
Distance (South to North) [km]

Ti, 74245 - 74333 UT, 20121218

E _—
= \ \
@
= L]
g | |
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 74421 - 74509 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 74557 — 74645 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Altitude [km]

Ti, 74645 - 74733 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 74821 - 74909 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 74957 — 75045 UT, 20121218

N
o
o

300
200

Altitude [km]

Distance (South to North) [km]
Ti, 75133 - 75221 UT, 20121218

100

-500

I
o
o

Altitude [km]

Distance (South to North) [km]

Ti, 75309 - 75357 UT, 20121218

C\Q , ,\,',\\ , \\

Distance (South to North) [km]

500
400
300
200

Altitude [km]

Ti, 74733 — 74821 UT, 20121218

\

100

-500

500

N
o
o

300
200

Altitude [km]

Distance (South to North) [km]
Ti, 74909 - 74957 UT, 20121218

100

-500

Altitude [km]

Distance (South to North) [km]
Ti, 75045 - 75133 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 75221 - 75309 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 75357 — 75445 UT, 20121218

Distance (South to North) [km]



Ti, 75445 - 75533 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 75621 - 75709 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 75757 — 75845 UT, 20121218

Altitude [km]

E \ o
= \ \
[}
= A
g \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 75933 - 80021 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 80109 - 80157 UT, 20121218

Altitude [km]

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]

Ti, 75533 - 75621 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 75709 - 75757 UT, 20121218

Altitude [km]

E \ o
= \ \
()
] (I \
= A
ﬁ \ \
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 75845 - 75933 UT, 20121218

500
400
300
200

100
-500

Altitude [km]

Distance (South to North) [km]
Ti, 80021 - 80109 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 80157 — 80245 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



Ti, 80245 - 80333 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 80421 - 80509 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 80557 — 80645 UT, 20121218
A T T ! !

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 80733 - 80821 UT, 20121218

_ 500 gamma T T
€ 400 \ R
3 300 \ \ \
=) \ \ \
S 200 RRRREEE SR
< 100 \ \ SO T
-500 0 500
Distance (South to North) [km]
Ti, 80909 — 80957 UT, 20121218
_ 500 T T
g 400 \ \\' ' \\
3 300 \ \ \
= \ \ \
£ 200 RRRREEE SR
< 100 L \ T T
-500 0 500

Distance (South to North) [km]

Ti, 80333 - 80421 UT, 20121218
500 pigy ~

Altitude [km]

100 —

-500 0
Distance (South to North) [km]

Ti, 80509 - 80557 UT, 20121218

500 g3

Altitude [km]

Distance (South to North) [km]
Ti, 80645 - 80733 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 80821 - 80909 UT, 20121218

Altitude [km]

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 80957 — 81045 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Ti, 81045 - 81133 UT, 20121218

500

N
o
o

300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 81221 - 81309 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 81357 — 81445 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 81533 - 81621 UT, 20121218

Altitude [km]

500 - T T

= \

€ 400 \ R

L 300 WA | | |

=) \ \ \

£ 200 AR TRR

< 100 \ \ 5&\ 3&(
-500 0 500

Distance (South to North) [km]
Ti, 81709 — 81757 UT, 20121218

Altitude [km]

Distance (South to North) [km]

Ti, 81133 - 81221 UT, 20121218
> 4 T 1 1

Altitude [km]

Distance (South to North) [km]
Ti, 81309 - 81357 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 81445 - 81533 UT, 20121218

Altitude [km]

E \ o
= \ \
)
2 A S
g | |
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 81621 - 81709 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 81757 — 81845 UT, 20121218

a
o
o
V]

Altitude [km]

Distance (South to North) [km]



Ti, 81845 - 81933 UT, 20121218
\ T \

Altitude [km]

Distance (South to North) [km]
Ti, 82021 - 82109 UT, 20121218

vy T \

400

300 N

200

100 _.A‘.\ L

-500 0
Distance (South to North) [km]

Ti, 82157 — 82245 UT, 20121218

Altitude [km]

500

I
o
o

300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 82333 - 82421 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 82509 - 82557 UT, 20121218

Altitude [km]

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]

Ti, 81933 - 82021 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 82109 - 82157 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 82245 - 82333 UT, 20121218

Altitude [km]

E \ o
= \ \
)
2 A S
g | |
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 82421 - 82509 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 82557 — 82645 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



Ti, 82645 - 82733 UT, 20121218

E (U
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 82821 - 82909 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 82957 — 83045 UT, 20121218

‘* V\V'V\\ V\\V

Altitude [km]

200

Altitude [km]

Distance (South to North) [km]
Ti, 83133 - 83221 UT, 20121218

__ 500 3 T T \

£ 4008 \ \ \\

2 30018 \ \ \

= | | |

£ 200 o

< 100 \ L s
~500 0 500

Distance (South to North) [km]
Ti, 83309 — 83357 UT, 20121218

g 400§ \ \\' ' \\

S 300 \ \ \

2 | | |

£ 200 o

< 100 \ Lo B
=500 0 500

Distance (South to North) [km]

Ti, 82733 - 82821 UT, 20121218

E \ o
= \ \
(o))
= o]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 82909 - 82957 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 83045 - 83133 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]

Ti, 83221 - 83309 UT, 20121218
500 pgzmma

OO
NN

ALY N R EEEE

Altitude [km]

Distance (South to North) [km]
Ti, 83357 — 83445 UT, 20121218

E \ o
= \ \
()
2 Y]
g \ \
\ sfﬂ\ 300
500

Distance (South to North) [km]



Ti, 83445 - 83533 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 83621 - 83709 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 83757 — 83845 UT, 20121218

A} T 1 \

Altitude [km]

200

Altitude [km]

Distance (South to North) [km]
Ti, 83933 - 84021 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ stﬁ\ 3004
500

Distance (South to North) [km]
Ti, 84109 - 84157 UT, 20121218

— 500 gmg T T T

£ 400,84 | L

3 300 & \ \ \

= \ \ \

£ 200 o

< 100 \ L o T
-500 0 500

Distance (South to North) [km]

Ti, 83533 - 83621 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 83709 - 83757 UT, 20121218

__ 500 Ty T T
e a (T
X 400 \ \ \
3 300 \ \ \
= \ \ \
= 200 o R
< 100 \ \ B B
-500 0 500
Distance (South to North) [km]
Ti, 83845 — 83933 UT, 20121218
_ 500 T T
g 400 \ \\' ' \\
3 300 \ \ \
= \ \ \
= 200 o ETEE
< 100 \ \, \ 5(5‘ 3&)(
-500 0 500
Distance (South to North) [km]
Ti, 84021 — 84109 UT, 20121218
__ 500 T T
€ 400 L
3 300 EREREER
= \ \
< 100 \ B B
-500 0 500

Distance (South to North) [km]
Ti, 84157 — 84245 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Altitude [km]

N
o
o

300
200
100

Altitude [km]

500

I
o
o

300
200
100

Altitude [km]

Altitude [km]

Ti, 84245 - 84333 UT, 20121218

Distance (South to North) [km]
Ti, 84421 - 84509 UT, 20121218

-500 0

Distance (South to North) [km]
Ti, 84557 — 84645 UT, 20121218

-500 0

Distance (South to North) [km]
Ti, 84909 - 84957 UT, 20121218

& T 0 |

g 400 \ \ \

3 300 \ \ \

2 \ \ \

£ 200 SRR SR

< 100 \ \ SO T
—-500 0 500

Distance (South to North) [km]

Ti, 84333 - 84421 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 84509 - 84557 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 84645 - 84733 UT, 20121218

Altitude [km]

Altitude [km]
w
o
o
/

200 (— \ ]
100 s AW \ 5(ﬂ\ 3004
-500 0 500

Distance (South to North) [km]
Ti, 84821 - 84909 UT, 20121218

. 500 g ; \ \ \
e -~ \ | \
% 400 «: 3 \ \ \
300 \ \ \
S ~\~ \ \ \
S 200 REREE A
< 100 \ \ B B
-500 0 500
Distance (South to North) [km]
Ti, 84957 — 85045 UT, 20121218
_ 500 T T
€ 400 L
3 300 RERREE
= \ \
E 200 '\ : '\ S
< 100 \ I T
-500 0 500

Distance (South to North) [km]



Ti, 85045 - 85133 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 85221 - 85309 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 85357 — 85445 UT, 20121218

Altitude [km]

Altitude [km]
w
o
o
4

100 AL
-500 0
Distance (South to North) [km]

Ti, 85533 - 85621 UT, 20121218

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 85709 — 85757 UT, 20121218

Altitude [km]

E \ o
== \ \
[}
2 ooy ]
g \ \
\ 5(5\ 300
500

Distance (South to North) [km]

Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 85133 - 85221 UT, 20121218

Distance (South to North) [km]
Ti, 85309 - 85357 UT, 20121218

Distance (South to North) [km]
Ti, 85445 - 85533 UT, 20121218

Distance (South to North) [km]

Ti, 85621 - 85709 UT, 20121218

Distance (South to North) [km]
Ti, 85757 — 85845 UT, 20121218

Distance (South to North) [km]



Ti, 85845 - 85933 UT, 20121218

v IR T T
3‘? N A N |
o

Altitude [km]
w
o
o

Distance (South to North) [km]
Ti, 90021 - 90109 UT, 20121218
! T ! !

£ 400 ,
== i \ \ \
3 300 \ \ \
= \ \ \
£ 200 SRRRERS SRRRRE
< 100 \ \ T T
-500 0 500
Distance (South to North) [km]
Ti, 90157 — 90245 UT, 20121218
r__|500 T T
€ 400 L
3 300 |
= \ \
E 200 '\ ) '\ ]
< 100 , \ SO T
-500 0 500

Altitude [km]

Distance (South to North) [km]
Ti, 90509 - 90557 UT, 20121218

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]

Ti, 85933 - 90021 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 90109 - 90157 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 90245 - 90333 UT, 20121218

Altitude [km]

_ 500 T T
€ 400 L
3 300 RRERRER
=) \ \
= 200 SUREEEERE SR
< 100 , L s
-500 0 500
Distance (South to North) [km]
Ti, 90421 — 90509 UT, 20121218
. 900 gy \ \
e \ o
X 400 Q”(,‘ \ \ \
L 300 ks \ \ \
2 \ \ \
S 200 RRRRRRRE: A
< 100 h L s B
-500 0 500

Distance (South to North) [km]
Ti, 90557 — 90645 UT, 20121218

E \ o
= \ \
()
2 Y]
g \ \
\ 588 3004
500

Distance (South to North) [km]



Ti, 90645 — 90733 UT, 20121218
500 ey
‘ N

E 1008 ARRRR

— \ \ \

S 300 \ \ \

2 \ \ \

g 200 [ R
100 A\‘a\. \ \ 5(5\ 3&)(
=500 0 500

Distance (South to North) [km]
Ti, 90821 - 90909 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 90957 — 91045 UT, 20121218

Altitude [km]

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 91133 - 91221 UT, 20121218

Altitude [km]

Altitude [km]
w
o
o
]

100 L
-500 0
Distance (South to North) [km]

Ti, 91309 - 91357 UT, 20121218

0 [ | |

£ 100 KR b

S 300 \ \ \

2 | | |

g 200 [ B
100 \ \ 5(5\ 300
=500 0 500

Distance (South to North) [km]

Ti, 90733 - 90821 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 90909 - 90957 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 91045 - 91133 UT, 20121218

Altitude [km]

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 91221 - 91309 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 91357 — 91445 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]




Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

500 g

Ti, 91445 - 91533 UT, 20121218

Distance (South to North) [km]
Ti, 91621 - 91709 UT, 20121218

500 g . I T T
400 Y

\ \ \
300 \ \ \

\ \ \
200 [ T
100 \ \ S(ﬂ\ 3004
-500 0 500

N
o
o

300
200
100

Distance (South to North) [km]
Ti, 91757 — 91845 UT, 20121218

Distance (South to North) [km]
Ti, 91933 - 92021 UT, 20121218

-500 0

Distance (South to North) [km]

Ti, 92109 - 92157 UT, 20121218

Distance (South to North) [km]

Ti, 91533 - 91621 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 91709 - 91757 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 —- :

-500 0
Distance (South to North) [km]

Ti, 91845 - 91933 UT, 20121218

500 gpw

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 92021 - 92109 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 92157 — 92245 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 92245 - 92333 UT, 20121218
i T T T

Distance (South to North) [km]
Ti, 92421 - 92509 UT, 20121218

500
400
300
200
100

-500

Distance (South to North) [km]
Ti, 92557 — 92645 UT, 20121218

Distance (South to North) [km]
Ti, 92733 - 92821 UT, 20121218

Distance (South to North) [km]
Ti, 92909 - 92957 UT, 20121218

Distance (South to North) [km]

Ti, 92333 - 92421 UT, 20121218

500

N
o
o

Altitude [km]

100
-500

Distance (South to North) [km]
Ti, 92509 - 92557 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 92645 - 92733 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 92821 - 92909 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 92957 — 93045 UT, 20121218

E \ o
= \ \
)
2 ! R
g | |
| 508) 300
500

Distance (South to North) [km]



Ti, 93045 - 93133 UT, 20121218

E (U
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 93221 - 93309 UT, 20121218

E \ o
= \ \
()
] . \
= A
g \ \
\ S(ﬂ\ 3004
500

Distance (South to North) [km]

Ti, 93357 — 93445 UT, 20121218
500 g

Altitude [km]

Distance (South to North) [km]
Ti, 93533 - 93621 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ stﬁ\ 3004
500

Distance (South to North) [km]
Ti, 93709 - 93757 UT, 20121218

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]

Ti, 93133 - 93221 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 93309 - 93357 UT, 20121218

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 93445 - 93533 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 93621 - 93709 UT, 20121218

Altitude [km]

E \ o
= \ \
()
= A
ﬁ \ \
\ 5(5\ 3004
500

Distance (South to North) [km]

Ti, 93757 — 93845 UT, 20121218
500 g

€ 4008 \ TR

2L 300 \ \ \

= \ \ \

£ 200 RRRRRRS S

< 100 \ \ 08 T
~500 0 500

Distance (South to North) [km]



500

I
o
o

300
200

Altitude [km]

Ti, 93845 - 93933 UT, 20121218

100

500

N
o
o

300
200

Altitude [km]

-500 0

Distance (South to North) [km]
Ti, 94021 - 94109 UT, 20121218

100

-500

500

Distance (South to North) [km]
Ti, 94157 — 94245 UT, 20121218

€ 400 L
< 300 b
2 | |
= 200 EREREREE TR
< 100 , L s
-500 0 500
Distance (South to North) [km]
Ti, 94333 - 94421 UT, 20121218
500 gp % T \

g 400 \ \ \

< 300 \ \ \

2 \ \ \

= 200 B R
100 \ \ stﬁ\ 3004
=500 0 500

Altitude [km]

Distance (South to North) [km]
Ti, 94509 - 94557 UT, 20121218

Distance (South to North) [km]

Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 93933 - 94021 UT, 20121218

Distance (South to North) [km]
Ti, 94109 - 94157 UT, 20121218

Distance (South to North) [km]
Ti, 94245 - 94333 UT, 20121218

Distance (South to North) [km]
Ti, 94421 - 94509 UT, 20121218

Distance (South to North) [km]
Ti, 94557 — 94645 UT, 20121218

Distance (South to North) [km]



Ti, 94645 - 94733 UT, 20121218

Altitude [km]

Distance (South to North) [km]

Ti, 94821 — 94909 UT, 20121218
500 g

€ 400 \ R

3 300 \ \ \

2 \ \ \

g 200 [ T
100 apeS: | \ S(ﬂ\ 3&)(
-500 0 500

Distance (South to North) [km]
Ti, 94957 - 95045 UT, 20121218

a [ | |

Altitude [km]

Distance (South to North) [km]
Ti, 95133 - 95221 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 95309 - 95357 UT, 20121218

4 T 0 |
R

Altitude [km]

Altitude [km]

Distance (South to North) [km]

Ti, 94733 - 94821 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 94909 - 94957 UT, 20121218

Altitude [km]

E \ o
= \ \
()
S b \
2 A .
ﬁ \ \
\ 508 300
500

Distance (South to North) [km]
Ti, 95045 - 95133 UT, 20121218

‘ \‘ [ | |
2 . . .

Altitude [km]

Distance (South to North) [km]
Ti, 95221 - 95309 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 95357 — 95445 UT, 20121218

E \ o
= \ \
()
2 Y]
g \ \
\ 588 3004
500

Distance (South to North) [km]



Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 95445 - 95533 UT, 20121218

Distance (South to North) [km]
Ti, 95621 - 95709 UT, 20121218

Distance (South to North) [km]
Ti, 95757 — 95845 UT, 20121218

Distance (South to North) [km]

Ti, 95933 - 100021 UT, 20121218

Distance (South to North) [km]
Ti, 100109 - 100157 UT, 20121218

Distance (South to North) [km]

Ti, 95533 - 95621 UT, 20121218

E \ o
= \ \
(o))
= o]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 95709 - 95757 UT, 20121218

E (T
= \ \
()
S b \
2 A .
ﬁ \ \
\ 508 300
500

Distance (South to North) [km]
Ti, 95845 - 95933 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 100021 - 100109 UT, 20121218

Altitude [km]

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 100157 — 100245 UT, 20121218

Altitude [km]

Distance (South to North) [km]



Ti, 100245 - 100333 UT, 20121218

E (U
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 100421 - 100509 UT, 20121218

E \ o
= \ \
()
] . \
= A
g \ \
\ S(ﬁ\ 3004
500

Distance (South to North) [km]
Ti, 100557 - 100645 UT, 20121218

€ 400 L

3 300 b

= \ \

E 200 '\ ) '\ ]

< 100 , \ SO T
—-500 0 500

Altitude [km]

Distance (South to North) [km]
Ti, 100909 - 100957 UT, 20121218

Altitude [km]

Distance (South to North) [km]

Ti, 100333 - 100421 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 100509 - 100557 UT, 20121218

@ | [ | |
~£2

€ 400 \ : \

3 300 \ \ \

= \ \ \

< 100 L \ o
-500 0 500

Distance (South to North) [km]
Ti, 100645 - 100733 UT, 20121218

E \ o
= \ \
)
2 A S
g | |
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 100821 - 100909 UT, 20121218
500 g

£ 100|

b \ \ \

3L 300 \ \ \

= \ \ \

£ 200 R ST

< 100 \, \ 5(”\ 3&)
-500 0 500

Distance (South to North) [km]
Ti, 100957 — 101045 UT, 20121218

E \ o
= \ \
()
2 Y]
g \ \
\ sfﬂ\ 300
500

Distance (South to North) [km]



Ti, 101045 - 101133 UT, 20121218

E (U
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 101221 - 101309 UT, 20121218

N
o
o

300
200

100
-500

Altitude [km]

Distance (South to North) [km]
Ti, 101357 — 101445 UT, 20121218

E \ o
= \ \
[}
= A
g \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 101533 - 101621 UT, 20121218

__ 500 W4 T T

S , b

==, 400 ' S L 3 *‘ \ \ \

3 300 | FPaATH \ \ \

2 oW \ \ \

< 100 L Lo
-500 0 500

Distance (South to North) [km]
Ti, 101709 - 101757 UT, 20121218
500 3w 2=

€ 400 § | L

3 300 \ \ \

2 \ \ \

£ 200 ey S

< 100 5 \ SO T
=500 0 500

Distance (South to North) [km]

Altitude [km]

Ti, 101133 - 101221 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 101309 - 101357 UT, 20121218

500
400
300
200

Altitude [km]

Distance (South to North) [km]
Ti, 101445 - 101533 UT, 20121218

\

100

-500

Altitude [km]

H

O

g1
o
o

Altitude [km]

Distance (South to North) [km]
Ti, 101621 - 101709 UT, 20121218

Distance (South to North) [km]
Ti, 101757 — 101845 UT, 20121218

Distance (South to North) [km]



Ti, 101845 - 101933 UT, 20121218

g o
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 102021 - 102109 UT, 20121218

N T | |

g 400 \ \ \

5 300 \ \ \

2 \ \ \

g 200 B R
100 \ \ S(ﬂ\ 3004
=500 0 500

Distance (South to North) [km]
Ti, 102157 — 102245 UT, 20121218

€ 400 L

3 300 b

= \ \

E 200 '\ ) '\ ]

< 100 , \ SO T
—-500 0 500

Distance (South to North) [km]
Ti, 102333 - 102421 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 102509 - 102557 UT, 20121218

I
o
o

300
200

Altitude [km]

100 :
-500 0

Distance (South to North) [km]

Altitude [km] Altitude [km] Altitude [km] Altitude [km]

Altitude [km]

Ti, 101933 - 102021 UT, 20121218

Distance (South to North) [km]
Ti, 102109 - 102157 UT, 20121218

Distance (South to North) [km]
Ti, 102245 - 102333 UT, 20121218

Distance (South to North) [km]
Ti, 102421 - 102509 UT, 20121218

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 102557 — 102645 UT, 20121218

Distance (South to North) [km]



Ti, 102645 - 102733 UT, 20121218
500 wor

Altitude [km]

-500 0

Distance (South to North) [km]
Ti, 102821 - 102909 UT, 20121218

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 102957 — 103045 UT, 20121218

Altitude [km]

E \ o
= \ \
[}
= A
g \ \
\ 5(5\ 3004
500

Distance (South to North) [km]
Ti, 103133 - 103221 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ stﬁ\ 3004
500

Distance (South to North) [km]
Ti, 103309 - 103357 UT, 20121218

E \ o
== \ \
[}
2 ooy ]
g \ \
\ 5(5\ 300
500

Distance (South to North) [km]

Ti, 102733 - 102821 UT, 20121218

E \ o
= \ \
(o))
= o]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 102909 - 102957 UT, 20121218

E \ o
= \ \
()
S b \
2 A .
ﬁ \ \
\ 508 300
500

Distance (South to North) [km]
Ti, 103045 - 103133 UT, 20121218

500
400
300
200}

100 — :
-500 0

Distance (South to North) [km]
Ti, 103221 - 103309 UT, 20121218
- \ \

Altitude [km]

Altitude [km]

Distance (South to North) [km]

Ti, 103357 — 103445 UT, 20121218
500 guamaa

= .

£ 400 KM S

S 300 \ \ \

2 | | |

g 200 A B
100 \ \ sfﬂ\ 300
=500 0 500

Distance (South to North) [km]



Ti, 103445 - 103533 UT, 20121218

E (U
= \ \
[}
S \ \
= ! L]
g \ \
\ 5(5\ 3000
500

Distance (South to North) [km]
Ti, 103621 - 103709 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 103757 — 103845 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 103933 - 104021 UT, 20121218

E \ o
= \ \
()
= A
ﬁ \ \
\ stﬁ\ 3004
500

Distance (South to North) [km]

Ti, 104109 - 104157 UT, 20121218
500 pgy

€ 100 & S

3 300 \ \ \

2 \ \ \

£ 200 ey S

< 100 \ \ SO T
=500 0 500

Distance (South to North) [km]

Ti, 103533 - 103621 UT, 20121218

E \ o
= \ \
(o))
= o]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 103709 - 103757 UT, 20121218

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Ti, 103845 - 103933 UT, 20121218

500

Altitude [km]

Altitude [km]

Distance (South to North) [km]
Ti, 104021 - 104109 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 104157 — 104245 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



Ti, 104245 - 104333 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 104421 - 104509 UT, 20121218

Altitude [km]

500

N
o
o

300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 104557 — 104645 UT, 20121218

Altitude [km]

—_ 3«\ T 1 T

EaoRigde '

2L 300 N M \ \ \

= \ \ \

£ 200 \ | SRRRRE

< 100 \ \ SO T
—-500 0 500

Distance (South to North) [km]
Ti, 104733 - 104821 UT, 20121218

N
o
o

N
o
o

Altitude [km]

100 :
-500 0

Distance (South to North) [km]
Ti, 104909 - 104957 UT, 20121218

500

I
o
o

300
200

100 :
-500 0

Distance (South to North) [km]

Altitude [km]

Ti, 104333 — 104421 UT, 20121218

E (T
= \ \
(o))
= ooy ]
g \ \
\ S(ﬂ\ 3000
500

Distance (South to North) [km]
Ti, 104509 - 104557 UT, 20121218

E (T
= \ \
()
] (I \
2 A .
ﬁ \ \
\ 5(5\ 300
500

Distance (South to North) [km]

Ti, 104645 - 104733 UT, 20121218
500 gaamaaz

Altitude [km]

Distance (South to North) [km]
Ti, 104821 - 104909 UT, 20121218

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 104957 — 105045 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



500

I
o
o

300
200

Altitude [km]

Ti, 105045 - 105133 UT, 20121218

100

-500

Altitude [km]

Distance (South to North) [km]
Ti, 105221 - 105309 UT, 20121218

I
o
o

300
200
100

Altitude [km]

-500

500
400

200
100

Altitude [km]

-500

Altitude [km]

Distance (South to North) [km]
Ti, 105357 — 105445 UT, 20121218

\

Distance (South to North) [km]
Ti, 105533 - 105621 UT, 20121218

ald

Distance (South to North) [km]
Ti, 105709 - 105757 UT, 20121218

Distance (South to North) [km]

Altitude [km]

Ti, 105133 - 105221 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 105309 - 105357 UT, 20121218

500
400
300
200

Altitude [km]

Distance (South to North) [km]
Ti, 105445 - 105533 UT, 20121218

\

100

-500

Altitude [km]

H

O

g1
o
o

Altitude [km]

|_\

O

g10
o
o

Distance (South to North) [km]
Ti, 105621 - 105709 UT, 20121218

Distance (South to North) [km]
Ti, 105757 — 105845 UT, 20121218

Distance (South to North) [km]



Ti, 105845 - 105933 UT, 20121218

Altitude [km]

Distance (South to North) [km]
Ti, 105221 - 105309 UT, 20121218

E \ o
= \ \
()
] . \
= A
g \ \
\ S(ﬁ\ 3004
500

Distance (South to North) [km]
Ti, 105357 — 105445 UT, 20121218

I
o
o

300
200

100 — :
-500 0

Distance (South to North) [km]

Ti, 105533 - 105621 UT, 20121218
500 g ;

400

Altitude [km]

200

100 N
-500 0
Distance (South to North) [km]

Ti, 105709 - 105757 UT, 20121218

Altitude [km]

E \ o
== \ \
[}
2 ooy ]
g \ \
\ 5(5\ 300
500

Distance (South to North) [km]

Ti, 105933 - 110011 UT, 20121218

500
400
300
200

100 :
-500 0

Distance (South to North) [km]
Ti, 105309 - 105357 UT, 20121218

Altitude [km]

E \ o
= \ \
()
] (I \
= A
ﬁ \ \
\ 5(5\ 300
500

Distance (South to North) [km]
Ti, 105445 - 105533 UT, 20121218

500
400
300
200

100 — :
-500 0

Distance (South to North) [km]
Ti, 105621 - 105709 UT, 20121218

Altitude [km]

Altitude [km]

H

O

g1
o
o
o

Distance (South to North) [km]
Ti, 105757 — 105845 UT, 20121218

Altitude [km]

|_\

O

g10
o
o
o

Distance (South to North) [km]



